· Find the equation for the line shown in the graph below. 
· It should be possible for another student in the class to understand everything you did.
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___________________
· Given a line with a slope of -1/2 passing through the point (-2, 5), write its formula in slope-intercept form and graph it. 


___________________

· Change the formula y = 
[image: image4.emf]x + 4 to standard form.

· Give the coordinates of ONE point which belongs to the line y = 7x – 2. 
___________
Explain how you know that the point belongs on the line.
· Write the formula of a line which is 


-parallel to y = -2/3x + 1.5
_______________
-perpendicular to y = -2/3x + 1.5   _____________
Convince me that the answer you gave is correct. For example, you could write a sentence, or draw a picture.
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